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Odd One Out?  
In each row, explain which equation is the odd one out. 

(𝑥 + 5)2  + 10 = 0 𝑥2 + 10𝑥 + 35 = 0 𝑥2 + 10𝑥 + 25 = 10 (𝑥 + 5)2 − 25 + 35 = 0 

5𝑥2 + 10𝑥 = 10 (𝑥2 + 2𝑥) = 2 (𝑥 + 1)2 = 2 (𝑥 + 1)2 − 2 = 2 

2𝑥2 + 12𝑥 − 20 = 0 2(𝑥2 + 6𝑥) = 20 (𝑥 + 3)2 = 19 𝑥 = 3 ± √19 

6𝑥2 + 36𝑥 = 18 𝑥2 + 6𝑥 = 3 (𝑥 + 3)2 + 9 =  3 (𝑥 + 3)2 = 12 

 

* Challenge * 

How many equations can you write that are equivalent to : (𝒙+ 𝟑)𝟐 = 𝟑𝟎 

Can you write some equations that are equivalent to 𝒙𝟐 + 𝟐𝟎𝒙 = 𝟐𝟔 ?  


